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PART -1

Which one of the following fundamental rights is available only to the citizens of India but
not to foreigners living in India ?

(a) Equality before law

(b) Freedom of speech and freedom of expression

(c) Right to life and personal liberty

(d) Right of religious freedom

Under Uttarakhand Right to Service Act, 2011, the second appellate authority may impose
penalty on designated officer who has failed to provide service within prescribed time
upto 3 :

(a) Five Hundred to Five Thousand (b)  One Thousand to Five Thousand

(c) Two Hundred Fifty to Five Thousand (d) Five Hundred to Ten Thousand

The Parliament of India consists of

(a) Lok Sabha and Rajya Sabha

(b) President, Lok Sabha and Rajya Sabha ¢ Q
(c) Lok Sabha, President and Council of Ministers .

(d) Lok Sabha, Rajya Sabha, President and Councg inisters

Who amongst the followings was Chairman of, augural session of the Constituent
Assembly ?

(a) Dr. B.R. Ambedkar (@)r. Rajendra Prasad

(c) Jawahar Lal Nehru @ Dr. Sacchidanand

Who among the followings cannot be em\wd by the Governor ? g%

(a) Members of the State Finance% ssion '

(b) Members of the State PubligServi#€e Commission
(c) Vice Chancellor of a Stat e?sity

(d) Advocate General
Which one of the followin@ot be dissolved but can be abolished ?

(a) Rajya Sabha (b) Lok Sabha
(c) State Legislative bly (d) State Legislative Council

The Contingency Fund of India was created in
(a) 1950 (b) 1952 (c) 1954 (d) 1962

Which of the following amendments in the Indian Constitution has made the Right to
Education a Fundamental Right ?

(a) 86" (b) 91 (c) 92 (d) o9s5*
Who among the following was not obtained Bharat Ratna in 2019 ?

(a) Pranab Mukherjee (b) Nanaji Deshmukh

(c) Atal Bihari Vajpayee (d) Bhupen Hazarika

As per Constitution of India, which of the following rights cannot be suspended or
curtailed during an emergency ?

(a) Right to speech (b) Right of freedom to move in the country
(c) Rightto life (d) Right to organise
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1. T 9 SRl # 9 F 91 Tk had WRA™ TRTHERT i a1 3Ty 8, W WA H T84 aret
ferefarrt =i =&t 7
(a) Tofer < awer guman (b) e TETA=T 3R AfrAfh WA=
(c) Sfad TR SARETA Tad=rd1 1 B (d) @it Tad==dT T HATTHR
2. 3TEUS T Ifeeer ffEw, 2011 % dgd Fuifa smemafy @ gar Sucsy T8 e 9
fafea it w fydfa ardiefia stitrpr eve 3TRIfUG % 3 Tftrsd & 203
(a) U@ W U EIR qH (b) U &SR ¥ UTd &R
(c) TS HEure &R dh (d) Ul E ¥ gH BN dh
3. YR gEg 4 3
(a) o AT IR T A9 Y (b) rrgcrl%l T 3T T 99T &
(c) Ok T, Ugufa M AR-aiwg @ (d)  oiieh @IS T, Tgafa iR af-ufiog @
o B E S de a3 g w s s 8 74
(a) S o.AR. ISR (b) T TE
(c) TETER AT 18& ( Yafeer—<
5. T d @ @ TS gRI ve=a T feRan ?
(a) T ot s 35 D) | T e e s 5 e
(c) TSH o fovafe=er™ o Herdid (d) UEdIhe S
6. P Y fpl o T for S HeRRge] ST R S HHAT R 7
(a) TST Wl (b) (c) Tafagmaw (d) T faum afg
7. WA Y 3rmenfares e TS oft
(a) 1950% ( 27 (c) 1954# (d) 19627
8.  WRdW wfaym & fr weniedi § @ ferem f3rem < 1w w1 wiferss iR smmn 2 2
(a) 86ar (b) 91ar (c) 92af (d) 95ar
9. Tymfcriaa ® & ferEepl 2019 T WA T &l ITH G T ?
(a) ST St (b) THTH vHE
(c) oree forgrt amoeht (d) YO TR
10. YRR Gfag™ @ 3FER, = il § 8 %A 91 T STTaehial § 9 a1 Fafraa 7@ fomn
ST Hehall ?
(a) WITYUT ST SARIHR (b) T T AN Sh TeId=IdT T RN
(c) Sied 1 3TferepR (d) TTfed B 1 ATIHR
o e ; e G
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Who was appointed as Chairman of 15" Finance Commission of India ?

(a) Arvind Pangaria (b) Amitabh Kant
(c) N.K. Singh (d) Sindhushree Khullar
How many countries are in Eurozone upto January 2019 ?
(a) 18 (b) 19 (c) 20 (d 22
Which country has opened first intercontinental under-sea railway ?
(a) France (b) Turkey (c) Russia (d UK.
Who become the first person to make double century in any Cricket World Cup ?
(a) Brendon McCullum (b) Rahul Dravid
(c) Chris Gayle (d) B.A. Sangakara
Who among the following was President of Gymnastic Federation of India in 2019 ?
(a) Sudhakar Shetty (b) R.S.§
(¢) Rakesh Garg (d) KamaiT’Singh

) s
Who was the winner of ‘Tour de France-2019’ ? @ ik

(a) Nairo Quintana
(c) Andreas Seppi

Among the followings who is the winner of, ’s Single of Wimbledon 2019 ?

Roger Federer

(a) Novak Djokovic
(¢) Andy Murray @*{d) Andreas

During which year Aurangzeb reiggposed Jeziya ?

(a) 1660 CE (b) 167% * () 1710CE (d) 1757 CE

Kolam Samvat was started i

(a) 425A.D. (b) D. (c) 825A.D. (d) 1200 A.D.

The Head Officer of th treasury during reign of Chandra Gupta Maurya was known
as

(a) Samaharta (b) Karmantik (c) Sannidhata (d) Douwarik

Which one of the following is the earliest temple of India ?

(a) Teli Temple at Gwalior (b) Temple No. 17 at Sanchi

(c) Bairat at Jaipur (d) Jadiyal at Taxila

From which country did Subhash Chandra Bose give the call “March to Delhi” ?
(a) Germany (b) Singapore (c) Japan (d) Myanmar

Who were the first foreign invaders on the North-Western Frontier in ancient India ?
(a) Sakas (b) Greeks (c) Persians (d) Chinese

How many persons are the winner of Green Nobel Prize in 2019 ?
(a) Two (b) Four (c) Five (d) Six




11. Trafafaa d 9 forden! YRa o 159 fora 3T kT 318987 SR T 7

(a) 3Tfag wmfean = (b) AT HId T

(c) TA.%. Rge (d) Frgsh geer
12.  SHRI 2019 T JUSIH | foha <1 AfFfeTd g 7

(a) 18 (b) 19 (c) 20 d 22
13.  Topm w1 3 g & i vgelt sTrueTdId o g 6 7

(a) WA (b) ThiA (c) &\ (d) Ih.4
14. Tl oft Torehe fava =9 o e S1deh a9 aTetT JUH AR S B ?

(a) SiEAHPPHem (b) UEA g8 (c) TraTa (d) T TN

15. Ffafaa @ @ %4 2019 § wia & s g9 %1 e 8 ?
(a) FIERIL (b)) IJIRTE.IE  (c) uéssr:ﬁQ (d) Ha g
N

16. T-S-TA 2019 w1 oo &= o1 ? .
() TFEE (b)) FHIEA (o) q@ﬁ‘ﬂ (& TR
17. ﬁnﬁawmﬁm@qzmwﬁw%

(a) T SAThITeh HeW
() TER (@. [ERIE]
18.  3TRTTorE A SAfSRM fohd a1 g SIfua 1
(a) 1660%. "7  (b) 1679%.° (c) 1710%. 9 (d 1757%. 9
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19. I Had SR 37T o1

(a) 425 2. EIH (b) 65N H () 825 3.®H  (d) 1200 5. &H
20.  TH W o ATEHRE § 1 I TR ST ST o

(a) THETEAT A (b g (c) GfFumTaryd (d) TaiHd
21. = 8 9 %9 91 YRa &1 IefiAaE Afe g 2

(a) TaTToTeR T deft "k (b) @it 1 Ol T 17

(c) SR IR (d) TR w1 FreaE
22. U O A “Teeett Tt @1 A fohe oo & fea 2

(a) AT (b) RmRaA (c) WU (d) ™R
23, IR YR | ITL-Tigert St W 3T S ol gy faesfi A o 7

(a) Wb (b) I (¢ (d) =
24. 2019 H foha AT o1 I et TEHR fiet o ?

@ @ (b) =R (c) d) ®8
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At whose demise did Mahatma Gandhi say ‘A star from Indian Solar System has
eclipsed’ ?

(a) Bal Gangadhar Tilak (b) Lala Lajpat Rai

(c) Gopal Krishna Gokhale (d) Mahadeva Govind Ranadey

By what name is the point of origin of earthquake known ?

(a) Focus (b) Epicentre (c) Generation point (d) Earthquake point
Tsunami is the result of which one of the followings ?

(a) Earthquake (b) Storm (c) Hurricane (d) Avalanche

Which one of the following district of Uttarakhand have highest population as per Census-
20117

(@) Champavat (b) Rudraprayag (c) Hardwar (d) Dehradun
On which river Obra Dam is constructed ?

(a) Son (b) Gomti (c) Rihand (d) Kosi

The maximum Rubber producer state in India is ’\Q

(a) Karnataka (b) Kerala (©) Tax@\hdu (d) West Bengal
Mac-Mahon line is in between \

(a) India and Pakistan (b) %a and Bangladesh

(c) India and China ( ia and Myanmar @%g
Which part of the following is called the “rj wl’ ? =

(a) Ganga-Sindhu plain region North-Eastern region

(c) Krishna-Godavari delta region % (d) " Kerala and Tamil Nadu

On which river is the Shiva SamudramWoater fall situated ?

(a) Chambal (b) Krish ¢ (c) Cauvery (d) Godavari
Malachite is a mineral of

(a) Iron (b) (c) Copper (d) Magnesium
Name the chemical sub e present in the bones and teeth.

(a) Calcium Sulph (b) Calcium Phosphate

(c) Calcium Chloride (d) Calcium Borate

Which of the following is not a natural polymer ?

(a) Silk (b) Cellulose (c) Rubber (d) Plastic
Fluoride pollution mainly affects to

(a) Kidney (b) Teeth (c) Eyes (d) Nervous System
For evolutionary success mutation must occur in

(a) Somatic R.N.A. (b) Somatic D.N.A.

(c) Germ plasm R.N.A. (d) Germ plasm D.N.A.

The title of the book written by Marx and Engels, on the Revolt of 1857 is
(a) The First Indian War of Independence (b) Revolt of 1857
(c) First War of Independence (d)y 1857
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fopereh! Icg T HETeHT Tl 3 g, “9Rd Hived § U A g8 T ?

(a) T TMER foeTeh (b) AT ATI T

(c)  TITet <psoT TGt (d) TETeE Mg TR

Ve Shl el o1 T TR T8 | ST ST R 7

() fir (b) e (0 swfafag (9 el
gt e 7 & fopmenr wfomm 2 7

(a) HHH (b) SR (c) q®MH I (d) femuam =
2011 3l SFATUMET % ITTIR IAUGUE H T4k SHE aTell [t i a1 g 7

(a) = (b) g (c) ®fER (d) <rueT
AU 7Y forg T WART TR ?

(a) TAER (b) TMHA W () TE=ew (d) HEHW
TR | FelTereh T 3cTeT hid aTeT U 8 . Q

(a) HAICH (b) A ORISR (d) ufzeam s
Hep-MgH @ aeg 4 8 ¢

(a) YA Ud T (b) Td AT &

(c) YRATIHATH (d) Td RIHR %

71 5 & o 91 &7 ‘9T 1 He’ HeATdl & ¥

(a) Tm-feey e & (O st am

1 v e i ) | e g

Toran gy St yuTa fohd e o fera

(a) TEATR (b) ST ¢ (¢) HEIW (d) e
TATHIEE G &

(a) ©iE (91d) H (b) 1 (c) dfae (d) Beffrm
3T TR qeTe i RERIERARIR: RIRIES IR

(a) HicTam Tehe ( CHIH BIEhS  (c) hicHId FANEE (d) FHiedaw aie
=1 9 9 31 wrpfaes sgere (Merm) T 8 2

@ wH (feh) (b) HIeS ©) s (d) e
TARTES TGHUT I T Hidl 8

(a) TBHI (b) <idi I (c) =i (d) =Rt a3 =l
fIeRTEeRI ThatdT & o Seafade 2T =Ted —

(a) cfesh IR H (b) cRFH T H

(c) g ARTIU T (d) SFHEHAS T A

1857 =1 ShIfT T HTE 3R Uf~ied g foifaa qeaes o1 3five 8
(a) T B 30T I 3 3feueH (b) TiEiee 31T® 1857
(c) THE AR ATH 3fedeH d) 1857
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40. The first transgenic plant produced was

(a) Maize (b) Rice (c) Tobacco (d) Cotton
41. Which of the following causes Polio disease ?
(a) Bacteria (b) Virus (c) Fungus (d) Parasite
42. In curd, which bacteria are found in abundance ?
(a) Salmonella sps. (b)  Lactobacillus sps.
(c) E. coli (d) All of these
43. Formation of hole in Ozone layer is maximum over which place ?
(a) India (b) Africa (c) Europe (d) Antarctica
44. Which of the following gas is considered responsible for damage to the Taj Mahal at Agra ?
(a)  Sulphur dioxide (b) Chlorine
(c) Fluorine (d) Carbon @‘ide
L 4
45. The main cause of algal blooming in an aquatic ecosys m§
(a) Global warming (b)y S on
(c) Eutrophication (d) Q agnification
46. Which of the following atmospheric layers is pga o the earth ?
(a) Troposphere Exosphere
(¢c) Stratosphere Thermosphere E‘%‘g
[=1;
47. Which of the following gas leaked dyfri hopal gas tragedy ?
(a) Methyl isocyanide (b) Methyl isocyanate
(¢c) Ethyl isocyanide § * (d) Ethylisocyanate
48. Which scientist used the te cotogy’ — for the first time ?
(a) Charles Elton (b)  Arthur Tansley
(c) Eugene Odum (d) Ernst Haeckel
49. The maximum number individuals that can be sustained in a given environment, is
termed :
(a) Carrying Capacity (b) Biotic Potential
(c) Environmental Resistance (d) Population Size

50. pH of normal rain water is about

(a) 2.6 (b) 3.0 (c) 5.6 (d 93
51. Working of a solar cell is based on which one of the following ?

(a) Laser Technology (b) Tyndall effect

(c) Thermal Emission (d) None of these

52. Name that component of diet which is assimilated as such.
(a) Fats (b) Proteins (c) Carbohydrates (d) Vitamins




40. UEAT ZGSlTeh ScqTIed e o7 —

(a) UHs (WHHT) (b) =EA (c) TR (d) HUE
41. Oifern i sfigrd e 3 @ foraes RO B B ?

(a) St (b) fermoy (c) Wke (d) wRefie
42. AP A IR TgaEd F B 8 7

(a) TTeHNT WY, (b) RIS WY,

(c) 3. IS (d) TBEHt
43. 3TN T | B¢ i 139 TohT T & HW ARhad 8 7

(a) WA (b) 3THIHT (c) I (d) 3TeTehieehT
44. T H @ € g 3 % e i g1 (&) TgeH % fore R ar R 2

(a) HEHL SEIHTSS (b) aa‘lﬂn

(c) WA () m@@m@
45. @Wqﬂfarmaaﬁﬁamquqg@w

(a) Sfgaes ardfietor (b)

(c) Fdmm ( aH

46. ﬁmﬁ@a@maﬁﬁﬁw(w)gﬁ_%%?

(a) CIAEHI (b)  TEHEIEHIT (¢) EITHI (d) UHERR
47. AT 19 AEE H e H 9 e e gam o ?

(a) Thurger smeaEEse (b) Thumze EEERRe
(c) SUTEA ABHHRAES (d) U RS
48. ‘SIS e (M) T T Uget fohH aFTeh 3 femam a7
(a) IHTeA TEA (c) IS 3TEH (d) I e

49. T ardreRr H Stferehan w8yt w1 fde saam @ -
(a) TETEHAT  (b) Sieh mar (c) TATERUF UfqQe (d) ST 3TTHR

50. | a9 % I 61 pH (Fiw=) i &, e
(@) 2.6 (b) 3.0 ) 5.6 d 9.3

51. HIeN (§R) ¥ 1 swrEfyunedt f= 8 @ fora @ smumia @ 7
(a) WSRAHAH (b) feves yumE (c) dHIE3IET  (d) 9 Y IS A&l

52. 3TER % 3 T2 I AT SHIRTT ST 36 €9 § Sedrd (arfed) 2d @ |
(a) @& (b) TEH (c) el (d) faefim
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53. In which era of the Geological time scale did the humans’ appeared ?
(a) Palaeozoic (b) Pre-Cambrian
(c) Cenozoic (d) Mesozoic

54. Which of the following is not a Green House Gas ?

(a) Water vapour (b) Methane
(c) Carbon dioxide (d) Oxygen

55. Palaeoclimatic studies are done by studying
(a) Tree rings (b) Ice cores
(c) Lacustrine deposits (d) All of these

56. Who is the winner of ICC Cricket World Cup 2019 ?
(a) India (b) England (c) West Indies (d) South Africa

57. Dobson unit is used to measure which one of the following ?
(a) Thickness of Ozone layer.
(b) Pesticide contamination in water. N Q
(c) Aerosol concentration in atmospheric column.
(d) None of these. @

L 4
58. Which following district is under the seisn@,ly most active/sensitive zone, in
Uttarakhand ?
(a) Almora and Nainital ( Dehradun and Uttarkashi
(c) Bageshwar and Chamoli @, None of these

8
[=];

59. Morbi dam burst incidence of Gujara of)&face in which year ?
(a) 1969 (b) 1979 (c) 1989 (d) 1999

erhobyl in the year 1986 ?
ke (c) Cloud burst (d) Nuclear

60. What type of Disaster occurred i
(a) Volcanic (b) Ea

61. Which year did the “Disaste agement Act” of Government of India came to force ?

(a) 2001 (b) (c) 2013 (d) 2015
62. Among the following;w{§¢ch is the most common form of glass ?

(a) Pyrexglass (b) Soda glass (c) Optical glass (d) Hard glass
63. Near sightedness of vision is technically termed as

(a) Hyper metropia (b) Presbyopia

(c) Myopia (d) Astigmatism

64. Which one of the following district of India have highest air pollution in 2019 ?
(a) Faridabad (b) Agra (c) Kanpur (d) Varanasi

65. Which of the following term denotes an error in a Computer Program ?
(a) Bus (b) Bug (c) Hybernate (d) None of these

66. Which of the following is a water soluble Vitamin ?
(a) Vitamin-A (b) Vitamin—B (c) Vitamin-D (d) Vitamin-E




53.

54.

5S.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

yeffer T -het % fore 1 T we Y St g8 7
(a) UlESE® (b)) Tk (c) HHNIE® (d) HESTES

fedasadifaeea oz ¢

(a) T aTSq (b) A (c) ohIeA SIEHES (d)  SATio
I FAary (feraiargie ) 1 31es o ST 2

(a) J& IO g (b) &% T (BR) gRT

(c) eheis M&ugm (d) safisgm

a8 =1 =Y. fopehe fawa u-2019 w1 s A 8 7

(a) WA (b) TS (c) IR IS (d) gfeor 3TshieRt
“giedd gfe’ — T # 9 fopgen! A & 2

(a) IS A i Wers (b) Wﬁﬂ@v@mw

(c) dTgHSH T 1 dfderad Jigu (d) sqﬁﬁﬁ:rﬁ

IATGUE o i & TAIC] bl T Yehrr feufa < I sk /HAGTIA &3 8 7
(a) STHISI Ud Fraret (b) Td ITHIA

(c) STIveR Ud THIeA! ( {1

TSHTA o WIS SH (ST ) % hl Tl HEgeft 7

(@) 1969 (b) = 1979 ‘*‘(c) 1989 (d) 1999
T H 1986 | 3T 3TTICT fohd ?

(a) SOEEEE (b)) I pd) () TG el (d) TR
AT Teh R hl IS J&EH T Teramee= o 31 7

(a) 2001 (b) (c) 2013 (d) 2015
ﬁmﬁ@@qmwﬁaﬁvwwﬁa%?

(a) UEEEHE (b i (c) HAfehaA®wE (d) HRHE
fene gfte o1 aehH1shl AT B

(a) TEWIAMGAT (b) IHSRIGET (c) WY (d) ufemfesn
freferfiaa & & 1 =1 fore 2019 # vRa 1 waifie g wgfva e g 2

(a) HUQETg (b) T (c) HEY (d) IR
7 & 9 9 1 ug et i 8 g wigwiar g 2

(a) =4 (b) @ (c) TEEER (d) 3T IR T

= 3 & o w1 frerfim ot @ gemsfiar B 7
(a) Tfm-uv (@) foefe-@ (c) Toerfmm - d) foerfm -3
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67. Which one of the following is a Web browser ?
(a) LINUX (b) Facebook
(c) Mozilla Firefox (d) None of these

68. Which one of the following is not a Transmission medium ?
(a) Telephone lines (b) Coaxial cable
(c) Modem (d) Microwave system

69. Which of the following converts high level language into machine language ?
(a) Compiler (b) Interpreter (c) Assembler (d) None of these

70. How many Union territory are at present in India ?
(@) 6 (b) 8 (c) 7 (d 9

71. Using which of the following, one can write a Webpage VQ
(a) HTTP (b) SMTP (c) FTP (d) HTML

&

72. To which of the following is one byte equivalent th
its

(a) 32 bits (b) 16 bits (c) (d) 4bits
73. The laws of planetary motion were discove
(a) Kepler (b) Copernicus ! Newton (d) Galileo
74. Which of the following statements%e for a Satellite moving round the earth with a
uniform speed ? .
(a) Its'time period depends Qn ass.
(b) Its motion has no acceleration. EE
(c) Its motion has an ac atton. fﬁ%ﬁ

(d) Its time period is 24 Ws.

75. The first artificial Satellite launched into space was
(@) Vostok—1 (b) Sputnik —1I (c) Pioneer —1 (d) Suyaz-1

76. The Indian space program began in the year
(a) 1960 (b) 1962 (c) 1965 (d) 1969

77. Halley’s Comet was last seen in the year
(a) 1972 (b) 1975 (c) 1982 (d) 1986

78. Which of the following communication relies on radio-signal or infrared signals for
transmitting data ?

(a) Wireless (b) Wired (c) Fiber optics (d) None of these




67.
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fAdg s T dg TsW R ?

(a) ol (b) ®EIH (c) WIS HRRBE (d)
e 4 @ o wes giafiee (F8wor) grem g R 7

(a) AR (b) HIUfFEIA b (o) HISH ()
o 8§ & B I i T By TR e & weerar 2 7

(a) TR (b) 3TTX (c) TEFIR (d)
W & S # fohe 3 I wew 7

@ 6 (b) 8 © 7 (d)

T 5 & forwent TRINT Stk SEUS 1 1 Hehd & 7
@ wdd o) wewd @ Wy ©

N
T 913, T+ H ¥ fordes THdea Bidl 2 7

(a) 32foc@ (b) 16 faeH () 6‘% (d)

PHEIRIGEEACDEIEIRCE Ak
(a) HIRA (b) HIRFHE A A (d)

{2
THHAH i & geft % IR 3R gH @ ﬁ?aﬁqmmmﬂiﬁ%?
(a) SEeHI STERIHTA FHP ZEIHH JL 2l
(b) S T i oo 7 Bl IR
(c) SEH TGH R |

(d) 3HHT HATEIHTA 24 G |

ST 9 IS TE

TTgshiad foen

ST 9 IS TE

4 fyeg

Aferfer 4

-1

1969 °

1986 1

ST T U T o

(a) aRTh-1 (b) TIAT-I (c) URNTRR-I (d)

WA 3TaTeT Shiishl I §3TT o

(a) 1960 (b) 19627 (c) 1965H (d)

Bl 1 geehq 3w R fe@s feam o ad

(a) 19727 (b) 1975% (c) 19827 (d)

=1 O 9 i H e e 1eT Uivd o o fore e e an sopie fame w it et
87

(a) T (b) dE (c) R e (d)
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88.

89.

Who won two silver medals for Uttarakhand in the 16" National Open Para Badminton
Championship held at Chennai in the last week of September 2015 A.D. ?

(a) Prem Kumar (b) P. Kashyap

(c) Saina Nehwal (d) P.Padukone

The only Civilian to participate in Indian Air Force launched operation to rescue the
victims of Kedarnath flash floods of 2013 is

(a) Yogendra Rana (b)  Yogesh Semwal

(c) Harinder Rawat (d) Prem Kumar

Where was the poet Viren Dangwal born ?
(a) Faizabad (b) Lucknow
(c) Kirtinagar (Dist., Tehri-Garhwal) (d) Gairsain (Dist. Chamoli)

Who won the “Miss Diva-2018 title ?

(a)  Shilpa Saklani (b) Nechaé @sma

(c) Tanya Purohit (d) Chitrans. 1 Rawat

The capital of the Katyuri rulers was \ .
(a) Srinagar (b) ora %’é‘g
(¢) Kartikeyapur (d rdhwaj '

The last king of ‘Tehri State’ was
(a) Sudarshan Shah Narendra Shah
(c) Kirti Shah Q/ (d) Manvendra Shah

After Sindhushree Khullar, who e®n appointed the CEO of NITI Aayog ?
(a) Arvind Pangaria (b) Tarsem Gujral

(c) Arun Jaitley (d) Amitabh Kant

The fault line occurringgt South of the Shiwalik ranges in Uttarakhand is known as
(a) Trans-Himalay rust (b) Main Central Thrust

(c) Main Boundary Fau (d) Himalayan Front Fault

Among the following which one is the main source of energy, in Uttarakhand ?

(a) Thermal power (b) Natural gas

(c) Hydro power (d) Geothermal power
‘Vandematram Yojna’ is related to

(a) Pregnant women (b) Ex-Army personnels
(c) State Andolankaris (d) Handicapped persons
Land slide tragedy of Malpa (Pithoragarh) took place on

(a) August 1992 (b)  August 1998

(c) July 2004 (d) June2013




79. =13 # faamax 2015 3. % 3ifaw g @ mAfa 164 Ui 3nue S-sefired Sftafiim
Tfanfirar #§ TrEve o foIu fohee €1 Toid ueeh Siid 7
(a) HFER (b) . H=H (c) WEATgE™  (d) i 9gHE

80. AT r8fAeh fora It argEaT gRT 2013 3. Y HeRATY IS | = TS Heg i gew o
arflert i oft o8 2
(a) AMFIOM  (b) JOY AHATA (c) B Tad (d) I9FIR

81. <hid FRA STATE 1 = hal g AT 7
(a) ThelETe (b) TETS
(c) HIfdTR (SUe : fead-Tgare) (d) A (J9E : THIe)

82. “firg T — 2018” 1 Raara fopw S 7 Q&
(a) Trem EhaAr (b) e gEEH (©) ?ﬂ?&%\ (d) Temmsh vaa

83. el IMERhI < TSy off \
(a) SfFR (b) 3TcHIST (@Hﬁmp (d) TR

84, “Fomtl- T 35 3 A 053
(a) G@EEAWE (b)) RRWUE "\'(c) EIIRU] CIRIECE-RI

85. Taregsfi Goor & a1g fopd it e i STt forger fopam e @ 2
(a) 3= gTien (b) TET EA
(c) 30 SiTedl § (d)  Tfran w

86. STUREUES H fyrafersh \oh creTuT | TR u=1 1ET 1 gl ST &

(a) TEHTCE OR 9= (b) T& 0 9= (c) g Yw () Teuerh smww

87. IT@US T fAIfhd H T I Sl b Tq@ A © ?
(a) AEREHA  (b) TTfaeh T8 (c) AfIGd el (d) AT Sl

88. ICHTAH ATSHI 1 T4 &
(a) v HigesTi & (b) aud =Rt |
(c) TSI HAQIATHIE & (d) feamsaia

89. urer (fuerrrTe) shi swae i A ufed g8 off
(a) ST 1992 (b) 3T 1998 (c) TS 2004 (d) {32013
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90. Which one of the following criteria has been assigned 7.5 percent weight by the Fourteenth
Finance Commission of India for tax sharing with the states ?

(a) Population (b) Demographic change
(c) Area (d) Forest cover

91. What is the share of Uttarakhand in the Union taxes received by states as recommended by
the Fourteenth Finance Commission of India ?

(a) 1.05percent (b) 2.50 percent (c) 2.25 percent (d) 3.59 percent

92. According to Census-2011, which of the following states in India has higher sex-ratio than

in Uttarakhand ?
(a) WestBengal (b) Odisha (c) Assam (d) Jharkhand

93. Micro, Small and Medium Enterprises Development Act was implemented in India in the
year :
(a) 2000 (b) 2002 (c) 2006, Q (d) 2010

94. Which of the following country was the winner of b’\/omen Cricket World Cup in
2018 ?
(a) South Africa (b) Australia (©) } (d) England

in India ?
August 2014 —(d) 2" October, 2015

95. When was Pradhan Mantri Jan Dhan Yojana 1g§n
(a) May 2010 (b) August 2012

96. What is the amount of Life Insurance u

(a) %50,000 (b) % 1.00 LaQ/

97. Which one of the following Eu%orities is authorised by the Constitution to impose

adhan Mantri Jeewan Jyoti Bima Yojana ?
(¢) R 1.50 Lakh (d) 2.00 Lakh

reasonable restrictions on Funda 1 Rights ?

(a) Parliament (b)  Supreme Court
(c) President (d) Election Commission
98. According to Constituti India the Upper House of State Legislature can be created or
abolished by
(a) State Legislature Assembly (b) Parliament of India
(c) Governor of State (d) Presidential order E%EI}
[=1;

99. The Right To Information Act, 2005 aims at
(a) Promoting Transparency in Administration
(b) Promoting Efficiency and Accountability of Administration

(c) Containing Corruption in Administration
(d) All of these

100. Which one of the following agencies estimates the employment and unemployment in
India ?

(a N.EUO. (b) N.SS.O. (c) N.F.H.S. (d) N.AS.




90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

W < dicgd ford ST g0 e o & fohe Aeh ol TS o |19 3 AR 7 7.5 faerd 1
R feifa feam mn g 2

(a) <& (b) SHIfheh TREdH (¢) &% (d) o7 AT
YRA o Siegd ford SATERT shi TEgferii o STTER T2 bl ITH Heh 1 i H STREvE s faeiert
fopaft 2 7

(a) 1.059fdw@  (b) 2.50 Ufawrd (c) 2.25 gfaerd (d) 3.59 gfawra

SFTUET 2011 < TR 7 # & 91 o fohd T o foefmgaTd Sor@ve &1 qe | 31 7 7
(a) U smA (b) AfsIW (c) 3@H (d) @

HISSh!, TG Ud HIfSTT SeTITEoiel SaeqH- Uae YA | o] 31 Iy
(a) 2000 (b) 20027 (©) 2006ﬁQ (d) 2010%

mﬁmﬁﬁﬁmmzolsﬁaﬁmmm%@@mwmm?
(a) cfqur Tkt (b)  aTegform (c) éﬁ d) TS

Wﬁsrwn#rmméﬁwwmﬁné?&
(a) WE2010H  (b) 3IWE 20127 @. 2014 (d) 2 JFHRS, 2015 H

Haﬁnzﬁaﬁaqmﬁﬁaﬁméﬁwﬁw@ <fe <t Ty ReeA R 2
(©)

(@ 50,000 T 1.00 3 1.50 9@ (d) T2.00M@
= wiftremfn @ @ S w YT T FFhETd Tk T o forw wiferepe 8 2
(a) WEG (b) (c) Tgdfd (d) TS HAEN

Wﬁw%w&%aﬁw%mw(ﬁwuﬁm}wwaﬁtwﬁwﬁaﬁ
EIKETIRS

(a) U faum @ gm (b) YRR §HE gRT

(c) TSI & TSIUTA gRI (d) Tgufd % 3T gRT

AT T AR SAfaf=m, 2005 1 3299 8

(a) IRTET | YREHRIdT 1 Haeq (b) TSI SRIGITTd T e &1 daeq
(c) IMEA T WETER i UhoT™ (d) 3uUE Tt

=1 1§ 9 i i T, WA § USITR TE SUSTIR] 61 317l shidl 8 ?
(@) WIZLA. (b)) TWWEWIA. () WIRTATWE. (d) WL
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101.

102.

103.

104.

105.

106.

107.

PART - 11

In a coded language, INDIA is written as RMWRZ. In the same language, how should
CHINA be written ?
(a) YRSNZ (b) XSRMZ (c) XRSMZ (d) YSRMZ

A is brother of B.

C is sister of A.

D is brother of E.

E is daughter of B.

Who is uncle of D ?

(@) A (b) B (c) C (d D

A is brother of B. B is sister of T. T is mother of P. If R is the maternal grandfather of P,
how is T related to R ?

(a) Grand daughter (b) Sister, Q
(c) Daughter (d)  Wife N\
L 4
If rain is water, water is road, road is cloud, cloud L@ sky is sea and sea is path, where
do aeroplanes fly ?
(a) Road (b) Sea () ud (d) Water
Find the missing number (?) in the followi re

286, /7\ 16 Q* g»%
) DN

\V §
(a) 72 (b) @ ) 68 d) 66

For Assertion (A) and® (R), choose the correct alternative.
Assertion (A) : Inside arth metals are present in molten form.
Reason (R) : Earth absorbs the Sun’s rays.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

In a certain code

157 = He is naughty

723 = She is cute

825 = Cute and naughty

What is the code for ‘She’ ?

(a) 2 (b) 3 (c) 5 (d 7




101.

102.

103.

104.

10s.

106.

107.

HET-11
TeREl e WS H INDIA % RMWRZ fa@n Sar 8 | 3t 91 § CHINA %1 8 T
=1 2

(a) YRSNZ (b) XSRMZ (c) XRSMZ (d) YSRMZ
A,BHIUER |

C,AHI &R |

D,E®IVER |

E,BHI 2 |

DEICIEIEIC K&

(@) A (b) B () C (d D
A,BHIUER B, THTEIR I T,PHAMIE | IER, PH TS dl Th1 R T 1 T & ?
(a) (b) & () & | (d) et
aﬁaﬂfqﬁlé,qﬁas*%,as*qlqw%,qlqmwtr@}mﬂwagaéawwwé,ﬁ
FATE & hal 384 & 2

(a) Fh (b) H3 (©) @rﬂ (d) A

ﬁwa@ﬁrﬁ—gﬁm GELE=CF (§
A\.

§ (c) 68 d) 66

(@ 72 (b) 7§$
IRHAT (A) & o T ( ferehed 1 AT ST |

ANHYT (A) : YT 5 forereft sTamna g |

T (R) : YA T H T A R |

(a) THI(A)TAT (R) T & AT (R), (A) T TET THETHT 2 |

(b) GHI (A) AT (R) T &, T (R), (A) 1 Tl T 7 2 |
© (A)TAE, g (R) IFEAE |

(d) (A)3IEEE, T (R) T ¢ |

s ffvad e o

157 = He is naughty

723 = She is cute

825 = Cute and naughty

‘She’ T HE FAT 7 ?

(@) 2 (b) 3 () 5 (d 7
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108. Average age of three children in a family is 20% of the age of father and the eldest child.
The total age of mother and youngest child is 39 years. If father’s age is 26 years, what is
the age of second child ?

(a) 15
(b) 20
(c) 25

(d) Cannot be determined from the given data.

109. India’s Republic Day in 1996 was celebrated on Friday. Name the weekday when it was
celebrated in 2002.

(a) Tuesday (b) Saturday (c) Wednesday (d) Sunday

110. Which one of the following is same as 30% of 40% of 560 ?

(a)  15% of 80% of 280 (b)  30% of 80% of 280 '?%g

(©)  60% of 40% of 280 d) 80% gf@s of 280 E
111. The sum of all two digit numbers is @ M

(a) 4950 (b) 4905 () 44{ d) 4920

112. The dimensions of a rectangular block are ,24 cm and 5 cm. If dimensions are
doubled, the ratio between the volume of old ew block will be

@ 1:4 (b) @ @ 2:5

113. In a row of girls, Kanta is 12 @ left and Kirti is 8" from the right. If they
interchange their seats, Kanta becgmesN’5™ from the left. How many girls are there in the

row ?
(a) 20 (b) 21 22 (d 24
114. The sides of a triangle in ratlo ————— If the parameter of this triangle is 52 cm,
find the length of sma ide.
(a) (b) 10 (c) 11 (d 12

115. In a family of four, the average age is 19 years. What will be approximate percentage
increase in average age after two years ?
(a) 8% (b) 10.5% (c) 11.2% (d) 12.8%

116. Study the information and answer the question :
Kailash, Govind and Harinder are intelligent. Kailash, Rajesh and Jitendra are hard
working. Rajesh, Harinder and Jitendra are honest. Kailash, Govind and Jitendra are

ambitious.
Which one of the following person is neither hardworking nor ambitious ?
(a) Kailash (b) Govind (c) Harinder (d) Rajesh




108.

109.

110.

111.

112.

113.

114.

115.

116.

Tsh UG & o1 sl shi 3| 31y fUar 3R 58 =3 <l 3T 1 20% 3 | 3¢ 7ed B 5=
AT HTAT ShT ST 3T AN 39 T & TG TUa1 hl 31 26 T8 8 T g8 T=l hl S FATR 2

@) 15 (b) 20

(c) 25 (d) Te g3 arinet @ & fehrett ST wehet |

1996 B YR T Torda fead IEFaR 1 BRI TR | a9 2002 § 39 {7 &1 AW 9182 51« I8
T T AT |

(a) WTAER (b) WHER (c) FUIR (d) Te=mr
T E 9560 % 40% % 30% % GAM S8 ?

(@) 15% of 80% of 280 (b)  30% of 80% of 280

(c)  60% of 40% of 280 (d)  80% of 40% of 280

TETS 37ohi STet! THET GEAT3T 1 I 2 ’\Q

(@) 4950 (b) 4905 (c) 49@ . (d) 4920

@W@v@aﬁﬁnﬁﬁﬁAﬁﬁiws@ | A ST AT AT R fean I @t
(@) 1:4 (b) 1:8 2:3 d 2:5

wrefnal =1 U UfE #, Hid1 a1 o ‘%Faﬁﬁaaamwm%w%agaﬁm

T weeid] & dl shidl a1 & Uggel STt B | ufer | fepat erefenai E 2

@) 20 by 21 © 22 d) 24

e B 1 o Yy g | 2 Bt o e 52 36f 2 o e B e
TS [T hiord |

@ 9 (BT™N0 @ 11 d 12

IR ATl < TR I 3 3g 1999 8 | 2 99 a1g 3f|a 3y H e foha wfoera i

gfg grft 2
(a) 8% (b) 10.5% @) 11.2% d) 12.8%

AT T STEITA L T 1 ST G

herr, Mg qen giet gigue 2 | e, Teiet aun Rag afeerdht 8 | Tor, gfeet aun g
SR 2 | et Tifare aen frag firemd # |

T @ @ o =afea = ufterdt @ 3T & srfiem 2

(a) el (b) e (c) Bt (d) TS
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117. How many extra lines are required to join each letter in the following figure ?

A B
H C
G D
F E
(a) 20 (b) 22 ) 24 @d 25

1
118. If 5 be subtracted from both numerator and denominator of a fraction, it reduces to R If2

) . 2 . .
be added to both numerator and denominator, it becomes 3 Find the fraction.

12 14 15

(a) b 15 © 7o \Q @ 715

O |

L 4
119. The two words “Dubious : Indisputable” have a &n relationship. Select the pair of

words which has similar relationship. Qﬂ
(a) Slander : Libel (b amful : Tormenting E%EI}
(c) Perspicacious : Tenacit Avaricious: Generous e

120. If PRIVATE is coded as 1234567 a:@ as 2398, how will be RIVETS coded ?
(c) 234769 (d) 234976

(a) 232679 (b) 243769
L 4
121. The amount of water in a b &bles every minute. Barrel fills up completely in 60
minutes. In how much time be half fulled ?
(@) 20 minutes (b) inutes (¢) 40 minutes (d) 59 minutes

122. Two numbers are such that their difference, their sum and their product are in the ratio
1 : 7 :24. The product of the numbers is

(@ 6 (b) 12 (c) 48 d) 24

123. A batsman has a certain average of runs for 11 innings. In the 12 inning he made 90 runs
and his average got reduced by 5 runs. His new average is

(a) 127 (b) 145 (c) 150 d 217

124. What is the least number which should be subtracted from 10420 to make it perfect
square ?

(a) 16 (b) 25 c) 89 d) 99




117.

118.

119.

120.

121.

122.

T &R b et o T T famr o fepaft arfarfier e =nfed 2
A B
H C
G D
F E
) 20 (b) 22 (©)

foreht et 35 i v @ 5 werd e o B I B 1 3 i e 2 v ot S
STt 2 | Tt e shif |

(a)

(a 24 (d) 25

12

14
(b) 19 © 79

19 ’Q

N
g g “wfge : ffdare” o we fifvaa arery 2 |mﬁgsﬁ@§ﬁﬁmﬁ3ﬁwm
T | N

(a) Toreremes : fmen (b)%:ﬁa
(0 FumwElg : fqed @ Nash ;g

15
@ 19

O |

Y foraT e 2

(a) 232679 (b) 243@0 (c) 234769 () 234976

Teh Y o e <l AT Teehelaly QT Bt & | a1 60 fiee # qul &9 & WSt & | fohe
el ® 97 e W ?

(a) 20 foed ( i em (c) 40 fired (d) 59 fied

¢ Teh e WNT H PRIVATE i 12@7‘@@ a1 8 3T RISK &1 2398, dI RIVETS !

T T TSRt 3T, T QT TUM 1 @ 7 : 24 3791 | & A1 37 G131 1 HHA §
(a) 6 (b) 12 (c) 48 (d) 24

123. Tsh SodialS shl 11 Il 8 ues fAfvad @ 3faa 2 | 120 aif) 4 918 90 W H7d1 8 371 39 Wi
1 379d 5 T HA B AT 8 | 3Heh W1 bl 797 3NHd 3
(@) 127 (b) 145 (c) 150 d) 217

124. 98 % ) Te8 B T & el 10420 ¥ T T g Ui 9 51 bl & 2
(a) 16 (b) 25 ) 89 d 99

T e G




125. If printed signs ‘+’ and ‘" and numbers 4 and 8 are interchanged. Which one of the
following alternatives is correct ?
(a) 4-8+12=0 (by 4+8+12=16
(c) 8-4+12=8 (d 8+4-12=24

126. One fourth of a herd of Cows is in the forest. Twice the square root of the herd has gone to
mountain and the remaining 15 are on the bank of a river. The number of cows in the herd
is

(a) 6 (b) 36 ) 63 d 100

127. At the end of a business conference, 10 people present shake hands with each other only
once. How many hand shakes will be there all together ?

(a) 20 (b) 45 ) 50 d) 85

Q

L 4
128. A certain street has 1000 buildings. A person is contra t%o number the houses from 1 to
1000. How many zeros will be needed ? -

(a) 180 (b) 182 (©) & @ 192

129. In a group of 15 people 7 read French, 8 re@glish while 3 of them read none of the
two. How many of them read French an gsh both ?
(a O (b) 3 4 d 5

130. A alone can do a piece of work in‘Q dayS and B alone in 8 days. A and B undertake to do it
for X 3,200 with the help of C, t mpleted the work in 3 days. How much is to be paid

toC?
(a) %375 (b) @ (c) %600 (d) 800

131. 5 kg of adulterated ra as 2% stones in it and rest is the rice. Half of the stones are
removed. Now the percentage of stones in the adulterated rice will approximately be ?
(a) .99 (b)) 1 (c) 1.1 (d) 1.01

132. In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed
for the trip was reduced by 200 km/hr and the time of the flight increased by 30 minutes.
The total duration of the flight

(a) 1 hour (b) 1'% hours (¢) 2 hours (d) 2% hours

133. Average of 13 numbers is 68. Average of its first seven numbers is 63 and last seven
numbers is 70. Find out the seventh number.

(a) 45 (b) 47 (c) 49 d 52




125. afg B9 9 fag + qe — 3R 99 4 U7 8 i TER I fea1 S & af f fohedi 6 &
HH UL 8 ?
(a) 4-8+12=0 (b) 4+8+12=16
(c) 8-4+12=8 (d) 8+4-12=24

126. T % Teh YUS <l Teh =1TS TohE ST H 8 | ot {1 o T ol GTHT URTS] I 7T 39 15
ﬁ%%ﬁ%l@@ﬁwaﬁm%:
(@ 6 (b) 36 ) 63 ) 100

127. Tepelt ATfoTsa TRt < EHIed W 10 SAfell < Teh gl & helel T SR 1Y el | o8l et
fope g T T/ 2
(a) 20 (b) 45 ) 50 d) 85

128. fortht T8 9 1000 AhH & | ThEI W 1 & 1000%@@%%&@6&%@@%3[@

TRIT | 38 HoA Toha ST <hl TRl BT 2 @.

(a) 180 (b) 182 @) 1 d 192

129. 15 SAfdaei o T @ § 7 W4, 8 $fors ded Qd%g 33 gFi 6 % i 78 ued | fohaw
et Thel T SieTet Q1 hl dgd & 2

(@ o0 (b) 3 ‘& 4 d 5

130. %{ﬂ?ﬂefaﬁAméﬁqﬁHm%ﬁwsﬁqﬁwwé | ATYT BEHI A% 3,200H

1 g A 1 ot ferm | C Al A% 3 e ° qu e fezm | ¢ o et Tf
TN R ?
(a) T375 (b) % (c) %600 (d) 800

131. 5 foreat 3afufra =mac §28%% Tcer & a7 9 =1ad 8 | Tel <hi 31efl 9 81 & St 8 | 379
B I =l § Ie gfersrd ST BT
(a) .99 (b) 1 ) L1 @) 101

132. 600 Tt <t SeM T e T <t i T Tiem o Hror e} St Ut | $Heh! Jied i I
% A 200 fopeft wf e werft wh qen 3eM w1 ' 30 e Sern T | I8 W A T
Ll
(a) 19 (b) 1%EA (c) 2 (d) 2v%E

133. 13 G137 1 309d 68 & | 39k YH 7 GEATAT o1 39d 63 T 319 7 G131 <1 309d
70 B | HTadl ST 19 hINH |
(a) 45 (b) 47 (c) 49 d) 52
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134.

135.

136.

137.

138.

139.

How many pentagons are there in the following figure ?

(a) 16 (b) 14 ) 12 @ 10

How many triangles are there in the following figure ?

(a) 5 (b)y 6 (c) 8 Q (d 10
L 4
N
4

The following table gives distribution of work hours‘@factory :

Number of workers: 20 15 3 16 4

Number of hours worked : | 45-49 | 40- -39 | 30-34 | 0-29
What percentage of workers worked for 40 re hours ?
(a) 25 (b) 333 AQ 43 (d) 44

& 5
ERE
¢ 3 7 ;
Find out reciprocal of sum of re@a] ofg and 3 é%?

36 2
@ a2 (b) s ©

If the area of a circle given in the figure below is 9, what is the area of ABCD in the
figure ?
A B

&
N

(a) 36 (b) 24 ) 30 d) 35

(SN

1
@ 5

Shashi can do a piece of work in 20 days. Tanya is 25% more efficient than Shashi. In how
many days Tanya can complete the same work ?

(@) 15 (b) 16 ) 18 d) 25




134, F1 3Rt 8 fera dae € 2

(@) 16 (b) 14 ) 12 d 10

135. 1 3tmepfa # fopae Frager € 2

(a) 5 (b) 6 c 8 (d) 10
$
136. Tt TTfof weh @™ o T % s i e @ *
HSIGU o T 20 15 16 4

HHHES : 45-49 | 40-44,03639 | 30-34 | 0-29
fope sifererd #oiqli A 40 o1 38 AT w0 7

(@) 25 (b) 33% Q‘/s\'(c) 43% (d) 44%

137. %Hm%%w%éﬁﬂaﬂ Hifer
36

4
@ 32 (IS © 3 (d)

138. = fea g2 o 9 9 o1 &9%e 9n 2, @1 Fo 5 fg3 ABCD 1 &wa 11 3 2
A B

&
A

(a) 36 (b) 24 ) 30 @ 35

139. ifSr fereft s 61 20 et | g1 S Hehell B | AT ST T 25% 31fereh g&7 B | 35 S i AT
fepam feat & ot st wehelt 8 2
() 15 (b) 16 c) 18 d 25
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140. Which of the following year will have a similar calendar to the year 2011 ?
(a) 2020 (b) 2021 (c) 2022 (d) 2023

141. A 130 metre long train running at a speed of 45 km/hr crossed a bridge in 30 seconds.
What is the length of the bridge ?

(@) 200 metre (b) 225 metre (c) 245 metre (d) 250 metre
142. If ‘+’ means ‘x’, ‘x’ means ‘=’, ‘=’ means ‘-~ and ‘—° means ‘+’, what is the value of

(17+15-135x9+70) _?

(a) 270 (b) 240 (c) 200 (d 170

143. What should be the next number (?) in the following series :
6,7,9,13,21,37, 2

(a) 43 (b) 53 (c) o4 (d 69
L
144. Find the wrong number in the following series : § %%
1, 8,27, 64, 100, 216, 343 @
(a) 27 (b) o4 (c) (d 216
145. What is the degree of angle between the two s'of a clock when time is 3 : 30 ?
(a) 45 (b) 60 70 (d 75

146. A clock time when seen through a mj s‘ows 5 :10. What is the correct time ?
(a) 6:50 (b)y 7:10 (c) 6:40 (d 7:50

L 4
147. Anita started from a place A m@@d 2 m towards west. She then took a right turn and

walked 3 m before turning to nd walked 5 m. Now she took a left turn and walked
again 3 m to stop at place B. far is the place A from B ?
(a) 2m (b) m (c) 7m (d 8m

148. A watch reads 4 : 30. If the minute hand points East, in what direction will the hour hand
point ?
(a) South-East (b) North-East (¢) South-West (d) North-West

149. From a place A, Rahul walked 18 m to South, then turned left and walked 25 m, again
turned to left and walked 24 m and then turning to left reached at B after walking 17 m.
How far away he is from place A and in which direction ?

(a) 10 m north-east (b) 10 meast
(c) 10 m south-east (d) 10 m south-west

150. If July 15 of the year 2012 was Sunday, what was the day on July 15 of the year 2008 ?
(a) Monday (b) Tuesday (c) Friday (d) Sunday




140. =1 3 forg 99 BT Sheivet 99 2011 % 99 BAT ?
(a) 2020 (b) 2021 (c) 2022 (d) 2023

141. T 130 i ol WML 45 Tehaamiiet Ifd =et shi TRR | Th g ol 30 HehUgH H IR L Tt
2| gl Sl T R R 7

(a) 200 X (b) 225 ™R (c) 2451 (d) 250 ™

142, 3fe + T AT 5, % BT AT w7, 2 HT FE = qAT = B/ 3+ 7, A (17 +15-135 x
9+ 70) HTAF FTE ?
(a) 270 (b) 240 (c) 200 (d) 170

143. 0 @ | S € w@wn (7) 3l g A
6,7,9,13,21,37,?

(a) 43 (b) 53 (c) 64 Q d) 69

144. =1 Soft T Terq T JaTsd §
1, 8,27, 64, 100, 216, 343 @

(a) 27 (b) 64 (c) d) 216
145. 3 : 30 997 W 9Ll 1 € g1 o o9 § foheH TIATR 2

(a) 45 (b) 60 (v 70 d) 75
146. T <! 1 THI MW T 5 ; 10 giaT 2 TR 2

(a) 6:50 (b)y 7:10 (c) 6:40 (d 7:50

147, i T A @ 2 5f, v TN g ) 3 3 oA, o, fo T wpeeR S e e |
319 91 qgo 3 Hl. ST B % I 2 | I A, BH el gl w2 2

(a) 2. (b) (c) 7. (d) 8.
148.@u@ﬁﬁ4:3oa@f%§ﬁvaﬁg§wﬁwaﬁwiaﬁ‘ai%ﬁgé%ﬁaﬁsna‘ﬁw

Bt 2

(a) <o gd (b) IR (c) cferur ufgem (d) ST UfTEm

149. TEA I A ¥ 18 . <f&or i T S1an 7, 981 9 91 4 ST & 37K 25 Wi, T o a1 fhe
TR gt 24 H. Torar 8 | 35k a1g fR 91 geet 17 M. Foiel T B W Ugd ATl
2 | 39 99 98 TUH A ¥ Tohaet gt W g ae fopw femn 1 2 2
(a) 10H. I (b) 10 I& (c) 1oH.gurgd (d) 10, gferr ufvem

150. =g 15 JoTE, 2012 &1 @m0, @ 15 JATE, 2008 1 i &1 fe o1 7
(a) THER (b) TR (c) IEHAR (d) Tar

i S 59 Series-A
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